
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

10.248 × ________ = 1024.8 4.613 × ________ = 46.13

9.841 × ________ = 9841 8.279 × ________ = 8279

8.894 × ________ = 88.94 9.292 × ________ = 929.2

7.554 × ________ = 755.4 8.775 × ________ = 87.75

8.922 × ________ = 8922 1.003 × ________ = 1003

8.139 × ________ = 813.9 1.278 × ________ = 1278

10.416 × ________ = 104.16 1.637 × ________ = 1637

7.051 × ________ = 7051 3.864 × ________ = 3864

10.367 × ________ = 103.67 4.829 × ________ = 482.9

6.007 × ________ = 60.07 6.849 × ________ = 684.9
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